‘ q S h ba c k L’ Year4 Week4 Dayl

) Calculate S X 12
2)  Divide 69 by 3
3)  Find the product of 3,4 and 5

4) A laptop costs £4,000
A record player costs £472 less than a laptop.

How much does a record player cost?




Flashchk U Week 4 Day1

) Calculate S X 12 60
2)  Divide 69 by 3 23
3)  Find the product of 3,4 and 5 60

4) A laptop costs £4,000
A record player costs £472 less than a laptop.

How much does a record player cost? £3,528
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Which shape has the largest areqa?

A e ]

Divide 75 by 3

What are the factors of H?

HY)  Write 27 in Roman Numerals.




F | Q S h bQ C k L’ Year4 Week4 Day?2

Which shape has the largest areqa?

]

Divide 75 by 3 25

What are the factors of H? |, 2, 7/ H

Y)  Write 27 in Roman Numeradls. XXV
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) What is the area of the shape?

Give your answer in squares.

2) Calculate 87 = 5
3)  Multiply 26 by 4

4)  Round 3,456 to the nearest 100




F | A's h balC k U Year4 Week4 Day3

) What is the area of the shape?

Give your answer in squares.

9 squares

Calculate 87 =5 712
Multiply 26 by H |04

Y)  Round 3,456 to the nearest 00 3,500




Flashbale k ?

) Find the area of the rectangle.

2) Calculate 372 = 3
3) What is 37 X 5?7

HY)  What is the sum of 1,386 and 299°?

Year4 Week4 Day4




F | Q S h bQ @ k L’ Year4 Week4 Day4

) Find the area of the rectangle.

12 squares

2) Calculate 372 = 3 124
3) What is 37 X 5? 185

HY)  What is the sum of 1,386 and 299°? ,685




Flashback U Week 4 Day5

) Draw a shape with an area of 6 squares.

2)  Divide 945 by 8
3)  Find the product of 420 and 5

4)  What is the value of the digit S in 3,452?




Flashchk U Week 4 Day5

) Draw a shape with an area of 6 squares.

2)  Divide 945 by 8 I8 r |
3)  Find the product of 420 and 5 2,100

4)  What is the value of the digit 5 in 3452? 50 or 5 tens




